
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  

  

  פתרון בחינת הבגרות באנגלית

  

  'ז שאלון

)MODULE G(  

  

  407, 016108: מספרי השאלון

  'ב גרסה

  

  :מוגש על ידי

  , מיכל חכמון, אורית הולנדר

  וארז צרפתינחמה מצנר 

  מורים לאנגלית ברשת בתי הספר של 

  יואל גבע

  

  : הערות

 .התשובות המוצגות כאן הן בגדר הצעה לפתרון השאלון .1

לחלק , שאינן מוזכרות כאן, תשובות נוספות תיתכנה .2

  .מהשאלות

www.geva.co.il  // 1-800-20-40-60 // בגרות ופסיכומטרי

תחשבו רחוק
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Text Box
תשובות נוספות- ראה נספח
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Text Box
The design (and mechanism) of Silver's (eye)glasses
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Text Box
תשובות נוספות- ראה נספח
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Text Box
He has given out 40,000 pairs of (eye)glasses in 18 countries
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Text Box
He has convinced an Indian businessman to join in the venture


inbar
Text Box
Silver is doing to make the (eye)glasses more attractive








 

 

  

  
  
  
  
  
  

  
  

: 2שאלה   

How Silver will make it possible to bring (eye) glasses to millions of people. 

:או  

adjustable / affordable (eye) glasses. 

 

 

:6שאלה   

He explains what is being done to address the (sole) complaint made so far about 

the (eye) glasses. 

  

  

  נספח

  'זשאלון  

)MODULE G(  

  תשובות אפשריות נוספות




